B EERNNTS5A405 (38mm) FHG-4
(B Ha—Fk) 60008680

No. | EB&a—F % ol [BE Sl

1 76490902 (ALY +Frys 1 12,000

2 | 76490903 |[REKIL 1 2,800

3 | 76490904 |T KAH/N— 1 2,000

4 | 76490905 |RTFUYLT1EHHS 1 1,800

5 | 79002079 |[=—KILRF7YLH NK12./16 1 3,400

6 | 76490907 |[H5— 1 1,200

7 | 76490913 |[/—X4—XR 1 11,000

8 FRELRARD M5 x0. 8x25 4 i

9 KEN#aR 1 #7128

10 | 76491387 |[R—I~_RF7YLT 629UU 1 600

11 | 76490914 [T KAH/N—(B) 2 400

12 FRELRARD M4 x0.7x%x10 6 B &

13 | 76490908 |R!)>H 1 600

14 | 76490909 [4#5EkA<FHF Vb M8 2 1,200

15 | 76490910 |hvyFr 4 1 7,400

16 | 76491385 |R—ILARFYS 629UU 1 720

17 | 76490915 [RNFUYLTTSHyk(9F) 1 5,800

18 | 76490911 |O—4A—#A3T 1 20,000

19 | 76432003 |(RT—74#HIL 1 26,000

20 J—ATrAVFa—T 1 #19IZ8T

21 | 76491388 |R—ILRTFTYLY 608DDU 1 600

22 | 76490916 |TL—.L 1 17,000

23 RANFLERD JiRI%k M5X6 4

24 VX7 D inF 5

25 | 76491023 |FTILARAYF 1 4,000

26 | 76431007 |RAyFH/\— 1 5,400

27 FARELARD M4 x 45 2

28 | 76491118 |a—K7—< 1 400

29 FARELARD M4 x 8 1

30 NAETYE M4 1

31 | 76491024 |a—KH527 1 400

32 FRaARY M4 x 10 2 i B &

33 | 76432004 |FS545a—FK 1 7,700

34 | 76108003 |R/SF 2 400

35 | 76434003 |M107—/\ 1 3,800

36 | 76490921 |/—RXH—RXFa1—T 1 600




SERINY DTS4 25 (38mm)

=

z)

FHG-4(250H




